TH2EE ANKAERR

BEREES

O=48 Okigi - a1
HKERH R2.5.7 R2.7.1 R2.9.9 R2.11.4 R3.1.6 R3.3.3
FRKEFZ 9:40 9:35 9:45 9:50 10:00 9:40

P e £ (mg/2) 1.0 1.0 1.3 0.97 0.83 0.99

" BREBEESR (mg/2) 0.056 0.032 0.040 0.027 0.027 0.035
WBEERRUEMBREER (me/0) 1.1 1.0 1.3 1.0 0.80 1.0
1 =

QBELABFEHE (JKigi4 : #Fa)ID
HKERH R2.5.7 7H18 R2.9.9 R2.11.4 R3.1.6 R3.3.3
FRKEEZ 10:05 10:05 10:10 10:15 10:20 10:05

REEE HEBMEER (mg/Q) 1.5 1.7 2.7 4.1 4.7 5.2

0 BIHBMEER (mg/2) 0.015 0.020 0.030 0.13 0.12 0.093
WBEERRUEMBEER (me/0) 1.5 1.7 2.7 4.2 48 5.3
1 =

QEDIEHE (Jkizi 4 : H0Fa) 1)
HKERH R2.5.7 R2.7.1 R2.9.9 R2.11.4 R3.1.6 R3.3.3
FRKEEZ 10:30 10:30 10:35 10:45 10:50 10:30

P EEES (mg/2) 24 2.2 3.0 3.7 338 26

0 BHBEESR (mg/2) 0.026 0.018 0.016 0.037 0.063 0.042
WHBREERRUEMBREZER (me/0) 2.4 22 3.1 3.7 39 27
] =

DB ERRVEHEBREEROAMNELTVET,




@48 Ok teh 4 - 4034811
AR

RKE R2.4.8 R2.5.7 R2.6.3 R2.7.1 R2.8.5 R2.9.9 R2.10.7 R2.11.4 R2.12.2 R3.1.6 R3.2.3 R3.3.3
FRKEEZ 11:15 11:00 11:30 10:45 11:45 11:15 11:30 11:15 11:30 11:00 11:30 11:10
HRIHL (mg/Q) <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 -
2Ty (mg/Q) <0.1 - <0.1 - <0.1 - <0.1 - <0.1 - <0.1 -
Fie) (mg/2) 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 0.001
AMEZOL (mg/2) <0.005 - <0.005 - <0.005 - <0.005 - <0.005 - <0.005 -
At (mg/2) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
Ik ER (mg/2) <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 -
PCB (mg/2) - - <0.0005 - - - - - <0.0005 - <0.0005 -
SHOQAAY (mg/Q) <0.002 - <0.002 - <0.002 - <0.002 - <0.002 - <0.002 -
migb k% (mg/2) <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 -
12->H0aTAY (mg/2) <0.0004 - <0.0004 - <0.0004 - <0.0004 - <0.0004 - <0.0004 -
1,1->/aaIFLY> (mg/2) <0.002 - <0.002 - <0.002 - <0.002 - <0.002 - <0.002 -
B Xi2-c/aRAIFLY (me/d) <0.004 - <0.004 - <0.004 - <0.004 - <0.004 - <0.004 -
B [111-rypooThy (mg/2) <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 -
B [1i2-rysonzIss (mg/2) <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 -
B [r)ZanTFLy (mg/Q) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
ThZoO0IFLY (mg/Q) <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 -
1,3->onn7axRy (mg/2) <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 -
F51 (mg/Q) <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 -
DEOD (mg/Q) <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 -
FARVAILT (mg/Q) <0.002 - <0.002 - <0.002 - <0.002 - <0.002 - <0.002 -
oty (mg/Q) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
LY (mg/Q) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
;0% (mg/Q) 0.06 0.05 0.06 0.06 0.06 0.07 0.07 0.06 0.07 0.07 0.07 0.06
F5% (mg/Q) <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
HEMEER (mg/Q) 2.4 2.2 24 2.0 2.3 26 2.3 2.7 2.9 2.0 2.6 1.7
BHBEESR (mg/9) 0.030 0.019 0.017 0.016 0.005 0.010 0.008 0.013 0.010 0.020 0.040 0.034
WRMEERRRVERBREZER (mg/Q) 2.4 2.2 2.4 2.0 2.3 26 2.3 27 3.0 2.0 2.6 1.7
1,4-OFFH> (mg/Q) <0.005 - <0.005 - <0.005 - <0.005 - <0.005 - <0.005 -
VISI=E PN (mg/2) - - - - <0.006 - - - - - - -
F5UR-1,2-Y9A0IFLY  (mg/Q) - - - - <0.004 - - - - - - -
1,2->Haa7a/ > (mg/9) - - - - <0.006 - - - - - - -
p-CHOAR B (mg/Q) - - - - <0.02 - - - - - - -
AIXYFAY (mg/2) - - - - <0.0008 - - - - - - -
BATOIY (mg/2) - - - - <0.0005 - - - - - - -
ZI=rEFF (mg/Q) - - - - <0.0003 - - - - - - -
AVTaFHS> (mg/2) - - - - <0.004 - - - - - - -
XU (mg/2) - - - - <0.004 - - - - - - -
pI=I=p s =) (mg/2) - - - - <0.005 - - - - - - -
JOEHER (mg/Q) - - - - <0.0008 - - - - - - -
EPN (mg/2) - - - - <0.0006 - - - - - - -
THOLIRA (mg/2) - - - - <0.0008 - - - - - - -
B [Zz/7AL7T (mg/2) - - - - <0.003 - - - - - - -
B |[470RUhX (mg/2) - - - - <0.0008 - - - - - - -
# [ZoL=rODzy (mg/2) - - - - <0.0001 - - - - - - -
BH LTy (mg/2) - - - - <0.06 - - - - - - -
B [¥LY (mg/2) - - - - <0.04 - - - - - - -
FAVERY ITFNARVI (mg/92) - - - - <0.006 - - - - - - -
=L (meg/2) - - - - <0.001 - - - - - - -
E)ITY (mg/2) - - - - <0.007 - - - - - - -
TUFEY (mg/2) - - - - <0.002 - - - - - - -
ElEEZILE/R— (mg/Q) - - - - <0.0002 - - - - - - -
IFH/0Oery> (mg/2) - - - - <0.00004 - - - - - - -
&3IUHY (mg/2) - - - - <0.02 - - - - - - -
o5y (mg/2) - - - - <0.0002 - - - - - - -
Jz/—)L (mg/2) - - - - <0.001 - - - - - - -
RILLTILTER (mg/2) - - - - <0.1 - - - - - - -
4—t-1HFNI1/-N (ue/9) - - - - <0.0001 - - - - - - -
7= (ue/9) - - - - <0.002 - - - - - - -
2,4-Y"9aa71/—) (ug/v) - - - - <0.0003 - - - - - - -
i £

2R=




OMFE ki )1

HKERH - R2.5.7 - R2.7.1 - R2.9.9 - R2.11.4 - R3.1.6 - R3.3.3
FRKEFZI - 10:15 - 10:20 - 10:40 - 10:45 - 10:40 - 10:40
g |IREREESR (mg/2) - 25 - 1.9 - 3.2 - 3.2 - 2.6 - 1.8
" BREBEESR (mg/Q) - 0.016 - 0.010 - 0.005 - <0.005 - 0.017 - 0.030
WERMHERRUERBEZER (mg/Q) - 2.5 - 2.0 - 3.2 - 3.2 - 26 - 1.8
i =
®E RS T i Ok £ - H3E)11)
HKERH - R2.5.7 - R2.7.1 - R2.9.9 - R2.11.4 - R3.1.6 - R3.3.3
FRKEEZ - 9:15 - 10:00 - 10:10 - 10:15 - 10:15 - 10:15
REEE HEBHEER (mg/Q) - 3.2 - 2.2 - 3.9 - 4.2 - 43 - 3.1
0 BIHBEER (mg/2) - 0.013 - 0.011 - <0.005 - <0.005 - 0.011 - 0.017
WEMHERRUERBEER (ma/Q) - 3.2 - 2.2 - 39 - 4.2 - 43 - 3.1
1 =
@:EHE (kigi 4 - a1
HKERH - R2.5.7 - R2.7.1 - R2.9.9 - R2.11.4 - R3.1.6 - R3.3.3
RKEEZI - 8:30 - 9:10 - 9:30 - 9:30 - 9:30 - 9:30
REEE HEBEER (mg/Q) - 4.1 - 2.7 - 5.1 - 5.6 - 6.3 - 5.0
0 BIHBMEER (mg/2) - 0.021 - <0.005 - <0.005 - <0.005 - 0.010 - 0.020
WERMHERRUERBEERE (ma/Q) - 4.1 - 2.7 - 5.1 - 5.6 - 6.3 - 5.1
] =
@¥r 1L HHE (kg4 - I
HKEHB R2.4.8 R2.5.7 R2.6.3 R2.7.1 R2.8.5 R2.9.9 R2.10.7 R2.11.4 R2.12.2 R3.1.6 R3.2.3 R3.3.3
FRKEEZ 9:00 8:55 9:10 8:55 9:15 9:00 9:20 9:10 9:20 9:00 9:15 9:00
REEE HBEER (mg/2) 3.6 4.0 45 35 5.0 41 5.6 5.9 5.6 40 3.1 338
0 BEHBEER (mg/9) 0.34 0.16 0.56 0.13 0.29 0.44 0.64 0.32 0.18 0.12 0.17 0.27
WERMERRRUERNBREZRE (ma/0) 40 4.2 5.1 3.7 5.3 45 6.2 6.2 5.7 4.1 3.3 4.0
] =
@5hiEE (kg - F)ID
FKERH - R2.5.7 - R2.7.1 - R2.9.9 - R2.11.4 - R3.1.6 - R3.3.3
FRKEFZI - 11:00 - 10:55 - 11:00 - 11:10 - 11:20 - 11:10
P EEES (mg/Q) - 5.1 - 338 - 5.0 - 6.2 - 6.2 - 34
0 WHBEER (mg/2) - 0.037 - 0.019 - 0.017 - <0.005 - 0.23 - 0.065
WHBEERRUERBREZER (me/0) - 5.2 - 39 - 5.0 - 6.2 - 6.4 - 3.4
] =1

DM ERRUVEBHEBREEROAMNELTVET,




Q18 (kigi4 : FID

FKEAB R2.4.8 R2.5.7 R2.6.3 R2.7.1 R2.8.5 R2.9.9 R2.10.7 R2.11.4 R2.12.2 R3.1.6 R3.2.3 R3.3.3
FRKEEZ 8:30 9:50 8:30 8:30 9:00 8:30 8:30 8:30 8:30 8:30 8:30 8:30
HREIHL (mg/Q) <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 -
E (mg/Q) <0.1 - <0.1 - <0.1 - <0.1 - <0.1 - <0.1 -
Fie) (mg/Q) <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
AMAEiZ 0L (mg/2) <0.005 - <0.005 - <0.005 - <0.005 - <0.005 - <0.005 -
At (mg/Q) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
Bk ER (mg/Q) <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 -
PCB (mg/2) - - <0.0005 - - - - - <0.0005 - <0.0005 -
SHOQAAY (mg/Q) <0.002 - <0.002 - <0.002 - <0.002 - <0.002 - <0.002 -
migb k% (mg/Q) <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 -
12->H0aTAY (mg/2) <0.0004 - <0.0004 - <0.0004 - <0.0004 - <0.0004 - <0.0004 -
1,1->yaaIFLy (mg/2) <0.002 - <0.002 - <0.002 - <0.002 - <0.002 - <0.002 -
2 P R1,2-2o980IFLY (meg/?) <0.004 - <0.004 - <0.004 - <0.004 - <0.004 - <0.004 -
B [{1i-rysonTiy (mg/2) <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 -
B [i2-FyhonTiy (mg/2) <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 -
B [r)ZooTFLy (mg/Q) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
ThZoO0IFLY (mg/Q) <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 -
1,3->onn7axRy (mg/2) <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 -
F51 (mg/Q) <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 -
DEOD (mg/Q) <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 -
FAR AT (mg/Q) <0.002 - <0.002 - <0.002 - <0.002 - <0.002 - <0.002 -
oty (mg/Q) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
LY (mg/Q) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
;0% (mg/Q) 0.05 0.05 0.08 0.05 0.05 0.05 0.06 0.04 0.06 0.07 0.05 0.05
F5% (mg/Q) <0.02 <0.02 <0.02 <0.02 <0.02 0.02 0.02 <0.02 0.02 0.03 0.03 0.02
HEMEER (mg/9) 42 3.9 1.1 14 5.3 4.2 35 5.4 5.6 5.6 5.7 26
BHBEESR (mg/9) 0.027 0.047 0.040 0.034 0.023 0.034 0.021 0.010 <0.005 0.023 1.1 0.087
WRMEERRRVERBREZER (mg/Q) 42 3.9 1.1 1.4 5.4 4.2 35 5.4 5.6 5.6 6.8 2.7
1,4-OFFH> (mg/Q) <0.005 - <0.005 - <0.005 - <0.005 - <0.005 - <0.005 -
VISI=E PN (mg/2) - - - - <0.006 - - - - - - -
F5UR-1,2-Y9A0IFLY  (mg/Q) - - - - <0.004 - - - - - - -
1,2->Haa7a/ > (mg/9) - - - - <0.006 - - - - - - -
p-CHOAR B (mg/Q) - - - - <0.02 - - - - - - -
AIXYFAY (mg/2) - - - - <0.0008 - - - - - - -
BATOIY (mg/2) - - - - <0.0005 - - - - - - -
ZI=rEFF (mg/Q) - - - - <0.0003 - - - - - - -
AVTaFHS> (mg/2) - - - - <0.004 - - - - - - -
XU (mg/2) - - - - <0.004 - - - - - - -
pI=I=p s =) (mg/2) - - - - <0.005 - - - - - - -
JOEHER (mg/Q) - - - - <0.0008 - - - - - - -
EPN (mg/2) - - - - <0.0006 - - - - - - -
THOLIRA (mg/2) - - - - <0.0008 - - - - - - -
B [Zz/7AL7T (mg/2) - - - - <0.003 - - - - - - -
B |[470RUhX (mg/2) - - - - <0.0008 - - - - - - -
# [ZoL=rODzy (mg/2) - - - - <0.0001 - - - - - - -
BH LTy (mg/2) - - - - <0.06 - - - - - - -
B [FrLY (mg/2) - - - - <0.04 - - - - - - -
FAVERY ITFNARVI (mg/92) - - - - <0.006 - - - - - - -
=L (meg/2) - - - - <0.001 - - - - - - -
E)ITY (mg/2) - - - - <0.007 - - - - - - -
TUFEY (mg/2) - - - - <0.002 - - - - - - -
ElEEZILE/R— (mg/Q) - - - - <0.0002 - - - - - - -
IFH/0Oery> (mg/2) - - - - <0.00004 - - - - - - -
&3IUHY (mg/2) - - - - <0.02 - - - - - - -
o5y (mg/2) - - - - <0.0002 - - - - - - -
Jz/—)L (mg/2) - - - - <0.001 - - - - - - -
RILLTILTER (mg/2) - - - - <0.1 - - - - - - -
4—t-1HFNI1/-N (ue/9) - - - - <0.0001 - - - - - - -
7= (ue/9) - - - - <0.002 - - - - - - -
2,4-Y"9aa71/—) (ug/v) - - - - <0.0003 - - - - - - -

fit
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HKEAR - R2.5.7 - R2.7.1 - R2.9.9 - R2.11.4 - R3.1.6 - R3.3.3
FRKEFZI - 8:45 - 9:30 - 9:50 - 9:45 - 9:50 - 9:45
g |IREREESR (mg/2) 45 2.7 6.3 78 8.7 4.7
" BHBEER (mg/2) - 0.055 - 0.061 - 0.017 - <0.005 - 0.015 - 0.054
WBEEERVEMBEEE (mg/0) 45 - 2.7 6.3 7.8 - 8.7 4.7
fig e
QEHREOKES &)
FKEAR R2.4.8 R2.5.7 R2.6.3 R2.7.1 R2.8.5 R2.9.9 R2.10.7 R2.11.4 R2.12.2 R3.1.6 R3.2.3 R3.3.3
FRKEFZI 8:40 8:30 8:35 8:30 8:30 8:30 8:30 8:35 8:45 8:35 8:35 8:30
o HBEER (mg/2) 8.4 6.4 7.6 5.3 7.0 78 74 7.0 76 45 5.7 48
h W RR (mg/Q) 0.072 0.040 0.026 0.042 0.021 0.040 0.039 0.041 0.072 0.11 0.051 0.11
WEHEERUVERBEES (mg/0) 8.4 6.5 7.7 5.4 7.0 7.9 75 7.0 7.7 4.6 5.7 49
& 5
DHEBEEERRUVEBRBREZEROARELTNET,
BES
@48 Okigi - gD
EEFEAA - - - - - - R2.10.7 - - - - -
RIERZ - - - - - - 11:30 - - - - -
2PN (mg/keBZiE) - - - - - - <0.1 - - - - -
Eis) (mg/keBZifE) - - - - - - 9.9 - - - - -
7i=PN (mg/keBzifE) - - - - - - 88 - - - - -
E [Kfives (mg/keBZifE) - - - - - - <05 - - - - -
it (mg/keBZiE) - - - - - - 2.7 - - - - -
#KER (mg/keBZifE) - - - - - - 0.01 - - - - -
S TE T (mg/ke¥2iE) - - - - - - <0.01 - - - - -
PCB (mg/keBZifE) - - - - - - <0.01 - - - - -
BEEE (%) - - - - - - 25 - - - - -
Koy FERRE) (%) - - - - - - 20 - - - - -
i %
45 (Kigi4  EJI)
REFAR - - - - - - R2.10.7 - - - - -
ERIERZ - - - - - - 8:30 - - - - -
ARSI L (mg/ke¥ZiE) - - - - - - <0.1 - - - - -
2] (me/keBZifE) - - - - - - 7.7 - - - - -
8L (mg/ke#ZifE) - - - - - - 30 - - - - -
E |[Affivas (me/keBZifE) - - - - - - <05 - - - - -
itk (mg/ke¥ZiE) - - - - - - 4.1 - - - - -
kiR (me/keFzilE) - - - - - - 0.02 - - - - -
B |[7rski (me/ke8ZiE) | - - - - - - <001 - - - - -
PCB (mg/keFZifE) - - - - - - <0.01 - - - - -
SREVEE (%) - - - - - - 21 - - - - -
Ko (BLigEE) (%) - - - - - - 20 - - - - -
5 %




